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NIMCET

Mathematics

1. 2 11. 1 21 3 31 A 41 C
2. 3 12. 1 22 1 32 A 42 C
3. 3 13. D 23 1 33 A 43 A
4. 2 14. 2 24 4 34 D 44 A
5. 4 15. 1 25 3 35 C 45 A
6. 4 16. 3 26 2 36 A 46 B
7. 2 17. 3 27 d 37 B 47 B
8 3 18. 3 28 D 38 A 48 B
9. 3 19. 4 29 B 39 D 49 D
10 4 20 1 30 40 b 50 a
217.

Suppose the required point is (xp, y)

ﬂ =6- 2x

dx

6-201=0=> 2x1=6=> x1=3
Point must lie on the curve

24
= ¥y =6x; —x7"

Putting x1 = 3, y=18-9=9, the point is (3, 9).

Choice (D)
28.

T3

1= Jlogtan xdx (1)

&3

a
Using property Jf (x)dx = f(a —x)dx
0

w2
1= C"logtan %—x dx
2
I= C,‘log cot xdx (i1)
Adding (1) & (i)
2[=0= =0 Choice (D)
29.

Total number of determinants of order 2x2, which
can be formed by using 1 and O only is 2x2x2x2= 16

Non zero determinants are

L 0 (L 0o |1 1

0 171t 1170 1)

0 1 (1 14 [0 1

1ot o1 1

Required probability is I = 3 Choice (B)
.l

30.

Question seems to be wrong as 5f < 1, so that
t <0.2, thus sin® ¥ <0.2 and cos® x <0.2 which is
not possible simultaneously.

31.

100

55 -x+x+67-x=0

x=182-100 = 22

Students who have passed only in physics = 67 — 22

=45 Choice (D)
32.

A

Given that A-B= 1

= tan(A-B)= tang

tanA—tanB _ 1

1+tan Atan B
= tan A tan B=1+tan A tan B8
= tanA—-tan B—tanAtan B=1
Adding 1 on both sides
(1+tan A) — tan B(1 +tan A)=2

(1+ tan A)(1—tan B) =2 Choice (A)
33.

When digits and letters can repeat then number of

license plates = 26% ¢ 10* Choice (A)
34.

Heights of the two buildings are 21 and hz

h1

30° 60°

A
Lo

Y
A
=
A 4

h
Mg ot
- :

V3

he 1 o= 3h,

X 43
By 3

h .
— =3ho » —=— Choice (D
5 V3hy he 1 D)

35.
Since the function is continuous, hence
L.I.L. = R.ILL.

. .. T . T
limsin ——A =lima —+h
h—0 2 h—0 &

Choice (C)
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5]

Given that cos(o+) = El and sin(c—f§) =

13
1 5
Thus tan(ﬂt+[’>)=: and tan(m—ﬁ):E
Now tan 20.= tan{(o.+B)+ (0. — B))
B tan(a+ﬁ)+tan(qfﬁ)
1- tan(ot + ﬁ)tan(o{, — B)
3 5 27+15 42
112 36 36 56 hoice (A
_1—§-i_1_i —E—g Choice (A)
4 12 16 16

37.

The given equations have many solutions if
k+1 8 4k
B k+3 3k-1
Taking equations in pairs, we have these values,
k=1,3, 2
Out of these only k = 1 satisfies all the conditions.

Choice (B)
38.
The given question can be written as
tan~! i +tan ! i +tan~t —l
21 13 8
1 1
= tan! 211 13 +tan! - =
21 13
= tan ! i +tan ! ——
272
4 1 B 1 .
=tan y +tan o ={. Choice (A)
39.

-1 _1 _1
PA) = 2,1”(13) . and P(C) "

Problem will be solved if any one of them can solve
the problem

. P(AsBeC)= 1-P(A)+P(B)+P(C)

1,13, 18 Choice (D)
2 41 14
40.
a+b=—c

Squaring both the sides
2

+

2

o N

+2a.b =

- 2

a

|

b

I~

C|

9

= &

b

-|

.cos B =|c

9+ 25+ 2, ‘a

34+2356.cos 8 =49
30.cos6=15= cos B = E=l=cos 60°
30 2

= 0=60° Choice (b)
41.

Given that fla+0b)=f(a).f(b)
Putting a = b = 0, we have f(0 + 0) = {0)xf(0)
> A0 =1or0

Now f/(0) = Lim 10X =10
h—0 h

Lim DO =[0) _ £(0)Lim f(hz—l

h—0 h h—0
Since f(0) = 3, hence f(0) cannot be 0, thus f(0) = 1.
o fOLim L g o pim LWL g
h—0 h—0
Now [(By=Lim [G+m =[G}
h—0 h
- /(5)Lim @ —2x3=6. Choice (C)
h—0 3

42.
Suppose the third vertex is (x, y), then according to
the given condition

x+4—9:1 and y—3+47 _4
3 3
= x,y=(8, 8)

Hence area of the triangle is
%lzic T+(-90 8)~(8e —3)— (90 —3)—B8e T—40 8|

= 183 . Choice (C)

43.

Radius of first circle is \fl2 +k% -6 =Jk2 -5
Radius of second circle = Vi — k

Distance between their centres

= Y102 +(k-R)? =1

Circles are cutting orthogonally if

(B2—5)+ (k2—Fk)=1> 282 —k-6=0

= 2k+3)(k-2)=00rk= —% or 2 Choice (A)
44,

Equation can be written as (x—y)* = 4(x+y—1)

Suppose (x - y)=Yand (x+y-1)=X

then equation becomes

Y? = 4X, whose focus will be (1,0).

Thus X=1and Y=0

Orx+y-1=landx-y=0

> x=1Ly=1 Choice (A)
45. (A)
46. Let us check determinent of coefficient

2 2 2
1 o o [l+0+0° 0 o

o 1 (1)2—1+(u+(u2 1 mZ—U

2 2
o o 1 l+o+0” o 1

Hence there are many solutions. Choice (B)

47.
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2 2

a

Hence i‘)+i=1

GRS
e e

48.

2

" a
e” = 1+— and el = 1+—

b2

Choice (b)

005 (0 (1 - p)*° =190C5, ()1 (1 - p)*

100 o 1000
50501 T B
1-p _p
=p_P L 51 51p=50
50 51 p=oup
Bl
Orl}—m
49,

To obtain real roots,

(cos p)? 2 4(cos p — 1) sin p.

(cos p)l—4dcospsinp+4sinpz0

> cos?p—4cospsinp+4sinp

+4sinp-4sin?p z 0

Choice (d)

= (cosp —2gin p)2 + 4(sin p— sin’ p)¢ 0

(cosprSinp)2 is always + ve. (sinpfsinzp] is
also positive, where < p <m, it can be shown that
when p lies in 111 or IV quadrants, (sin p—sin2 p]
Choice (D)

becomes negative,

50.

logy 5= log32 5% = logg 25

Clearly logg 25 > log; 25

Hence x> vy

51.
52.
53.
54.
55.
56.
57.
58.
59.

60

91.
92.
93.
94.
95.
96.
97.
98.
99.
100

o O P> W > U0 w oo

ENGLISH
101.
102.
103.
104.
105.
106.
107.
108.
109.

]

ONO®mUO>» w00

61.
62.
63.
64.
65.
66.
67.
68.
69.
70

110

Reasoning
c 71
B 72
D 73
B 74
D 75
A 76
B 77
cC 78
c 79
A 80
B
C
C
B
A
A
C
C
B
A

2O P O0POROC

Choice (A)

81
82
83
84
85
86
87
88
89
90

computer
111.
112.
113.
114.
115.
116.
117.
118.
119.

120

o O>» 0O wNOwUww

B

00w »>w> 0
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